Exercise

Consider a type of machine for which failures occur according to an HPP with
basic ROCOF A. Suppose that due to different environments, m machines
of this kind will have ROCOF, respectively, a1\, azl,. .. sa@mA, where the a;
are unobscrved quantities modeled as independent variables from a gamma-
distribution with expected value 1 and variance §.

Derive the likelihood function for A when the machines are, respectively, ob-
served during given lengths of time, 7; (j = 1,...,m).

Finally, show how you can estimate the values of the aj by a Bayes argument.
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